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TR ERR A 24, 800 0.777 { 0.121 0.131 0.024 & A 30. 200 - - - -

BREES A 20, 700 0.786 | 0.123 | 0.133 | 0.025 ERRME A 30, 200 0.713 | 0.111 0.120 | 0.022

TEEES A 17,200 0.856 | 0.134 | 0.144 | 0.027 EEME A 22, 600 0.733 | 0.115 | 0.124 | 0.023

BiERA A | 13000 o003 o141 0152 | 0028 R A | 30.400 ) I Y R

=<ET A 31, 300 0.783 | 0.122 | 0.132 | 0.024 Bkt A 39, 400 0.826 | 0.129 | 0.139 | 0.026

= A 25, 800 0.943 | 0.147 | 0.159 | 0.029 BKERE A 24, 800 0.904 | 0.141 0.153 | 0.028

P A 24, 300 0.855 | 0.134 | 0.144 | 0.027 BKERE A 25, 200 0.878 | 0.137 | 0.148 | 0.027

ARET A 24, 400 0.827 | 0.129 | 0.140 | 0.026 EET A 19, 600 0.777 | 0.121 0.131 0.024

Bhi{T A 23, 200 0.911 0.142 | 0.154 | 0.028 #®ET A 22,000 0.787 | 0.123 | 0.133 | 0.025

#%EHT A 23,100 0.886 | 0.138 | 0.150 | 0.028 BET A 23.100 0.814 | 0.127 | 0.137 | 0.025
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BT A 20. 400 0.709 | 0.111 0.120 | 0.022 RET A 20. 400 0.760 | 0.119 | 0.128 | 0.024

LLIAELEE T A - - - - - FoYT A 22. 200 0.868 | 0.136 | 0.146 | 0.027

BET A 30. 500 0.783 | 0.122 | 0.132 | 0.024 Bk T A 23.500 0.796 | 0.124 | 0.134 | 0.025

BT A 24, 200 0.745 | 0.116 | 0.126 | 0.023 RET A 22,500 0.809 | 0.126 | 0.137 | 0.025

BERF () A 23, 000 0.805 | 0.126 | 0.136 | 0.025 24T A 26. 600 0.892 | 0.139 | 0.151 0.028

BEF (i) A 21,300 0.828 | 0.129 | 0.140 | 0.026 Yy T A 28. 500 0.773 | 0.121 0.130 | 0.024
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BAMAEERR A 41,900 0.652 | 0.102 | 0.110 | 0.020 BET A 18. 400 0.787 | 0.123 | 0.133 | 0.025

BhAT A 35, 300 0.884 | 0.138 | 0.149 | 0.028 2O +T A 20. 700 0.749 | 0.117 | 0.126 | 0.023

BY &S5 HEEER A 34, 000 0.790 | 0.123 | 0.133 | 0.025 ®RET A 22, 400 0.768 | 0.120 | 0.130 | 0.024

BY &£ SHHKT A 28, 800 0.885 [ 0.138 | 0.149 | 0.028 BEJIOvs T A 23, 200 - - - -
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FURIVEES A 26. 000 0.948 | 0.148 | 0.160 | 0.030 A EE 1 A 24, 800 0.777 [ 0.121 0.131 0.024 |+ AR—fEtHEEHR




[ FHHEM ]

SMAE3AR
2. MEREMIEESHEME

3. RREEBHHHM

xR

% | B M | & & tt & %
HET A 25. 500 - 7=k - RO FTEMmBHMAAR
T A 25, 600 0.654 |4'— b - Ry FE R HEMAT %
BT A 24, 600 0.840 |BEXEIETHME CAETER)
RIREHET A 25, 600 0.654 | s SR TR (R
BRBERME A 33. 100 0.650 |EXEIETEME
ERBERME A 22, 300 0.650 |BXAEETEME
REEE A 33. 000 0.660 |BRIBIERTEHER
RBERE A 25, 400 0.660 |BXBERTERBE
BRI S A 25, 400 0. 660
SERET A 27,800 - |SRERERA (R

% wo| | BROE | DEHR "

B RBE RGN SE

(REE)
FERIE A 70. 600 0. 600
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E=25: 11 A 58, 600 0.550
Bl (A) A 51,200 0. 600
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BRIEXS A 20, 700 78. 600 21,717
ETEEXS A 17, 200 85. 600 18,120
b RIVERT A 36. 900 95. 800 39, 109
b2 RIVEEER A 39. 600 95. 900 41,974
FORIVEES A 26, 000 94. 800 27, 541
BT A 20, 400 70. 900 21,304
BET A 24, 600 84. 000 25, 892
BT A 24, 600 84. 000 25, 892
BEF (B A 23,000 80. 500 24, 157
ERfEHR T A 24, 200 74. 500 25,327
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TGS Eak (Z3h) 10§48 A 10,727 |BBms = TS B HBBEE A 2.363
HETE Ea% (Zi) o A 10,727 |5BmsE HETE B HBBEE A 2.363
TEHE s (Zih) 7 A A 10,727 |BBmH = Es2, e HBBEE A 2.363
HED (A)  TaE (Zi) 68y A 8,000 |B Bk % HED (A) B ABBEE A 2.000
WD (B) mmE (Z3h) 48a% A 8,000 |B Bk % HED (B) B HBBEE A 2.000
HEF (C) EhE (Zi) 38 A 8,000 |B Bk % HED (C) B HBBEE A 2.000
HHE Eas (Zih) 24a A 7,000 |B#BIRE S B ABBEE A 1,545
GBI 2 75) GRS %75)
MEEEHEG EOE (Zih) 6 A A 8,000 |B B % MEEEHE B HEBE = A 2.000
AW Ea (Zih) 488 A 8,000 |B B % AIBHED B HEBE = A 2.000
BB Ea (Zih) 248 A 7,000 |BE B E ABHETE B X HEBEE A 1,545
AEHF mas (Zih) 14348 A 7,000 |BE B E AEHF B2 HEBE = A 1,545
Bt mas (Zih) 488 A 8,000 |B B % Bt B HEBE = A 2.000
Bt man (Zih) 38Ha A 8,000 |B B = Bt B HEBE = A 2.000
Pt man (Zih) 38Ha% A 8,000 |B B % B+ B HEBE = A 2.000
BEHT mon (Zih) 14348 A 7.000 |BE B E BEHT B HEBE = A 1,545
AEMBGT EOE (Zih) 14348 A 7.909 |# R = EREGT B HEBE = A 1,545
(BEEH) (BE L)
WHAENE Eak (Zih) 48Ha A 8,000 |B BB = WEHARE 0% EEBE = A 2,000
TEMERERA EA% | (Z#) 2MiEu A 7.000 |BE B E TEMEEES B | EEBEE A 1,545
WEAEA ma (Zih) 14a A 7,000 |BE B E WEHES B HEBE = A 1,545
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2 BT FHLY29BEET A 6,736 JHERIRE
RO M HETRE ERREEE 1)
3 RN L THLYNEEET A 8,354 |BEBIHE
NEDFHEHRERE EHIBEM b
2 BT 59 BHET (308) A 6,063 |JHERIRE
RO M HETRE EHOHEAR 5
SHRMELLLE 59ABFET (308) A 1,509 HERIRE
NEOFHEHEERE
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